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(ol ] Potgnummt Operations = fidd, Sulsivad, M ply

A(g- yDt (. )3-25 +14\sz lls+23319&

sz 103 (llnzﬁ 4% 1m+l69\1 Sehy 2‘@

3) (-

4) (-0 +%l<+ bkH) 4 (-14-4 - \4@ & O\é% I
6 M Ix-3) = =4 - [

© (3m-D(Emt7F) = 24m>+13m-7F

@ (2a-2)(a-5)= lbg*-1a +5

B (4n+1) (2nth)=Gi 26 +b

[hew] Binmmial, Expasion

Let's consider (x+5)° Expand,. (xty) (xty) = 53+ 2xj T2
N, et dorsider (x+5)°. Expand. (xvy) (xe ) Tey) = <35 375432y

What about (x+4)°?
(Difemma) ey)® is AT of work o expand |
l there & more effivient. wayto expand, binomials?

Pascal's Triangle (Rioamidk Thearem)
1 (xty)
The et % last numloas ineach vow owe L. 1 11 (xty)
Beginning with the sewnd, (w, eony 1 2 1 (xye
vther number ¢ by adding The 2 1 13 [2 [4 (><+ )
Mg mwreimfc?g Aone the w4 4 b 4 1 (xm)*

1 S 10 10 5§ 10w
1@1520[5@1
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Lplese ne: | The exprvorts in the expunsio. adk 1o the expinent in the
binmmial expment.

(X’rg) i x5 +2x5 +><5 (x+5)3— XM +3>«3 +3x§ +XU
T A +2’§‘j1'3 = % +3% + 3y +y?

(Examplel] Troand (xty)*

)= 5"+ +‘Fx\|1 + 10y*
F ><4+‘rx +£¥M ﬁx& ’r&

(Example 2] Expand (xty)®

(ety)>= 1 + 5! lOW + [0yt Sxyf +1><U
= X +§><3-f \OXU + 0)&\\13 +57\tj ‘\'3

CExamele3) Expand (x+3)°
(x+3)"

n

12337+ 2x3)+1x°G3Y
= W +0x+9

(Examsle ) Expand (xt S)*

[x+5) = LAG +42(Q) +bx2 () + 4x (@ + |x°(S)F
= s 1203 + |6 D + S00% + 625

(Example 6] Exoand (2x+1Y

(2x¢2)*= 1@ @ +3(23 (1) + 3200241 @Y
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What (€ the bowmial has o negahve. Instead of & pshve eign?

Lets conider (x-y¥ 1 (x-y)
1 -1 (x-y)
U =20 U syt
1 =3 3 =1 (xy)
oiery fther vunber | eom" L 4 G ea 1 oy
Gpe "0 negatve. 1 =5 10 -0 5 =10
1 - |5 -20 |5 -6 2L

(X—\ld)z 3 1 ’Bx\\j +3><?lj 1Xl1 ; [ (X’ﬂ)“
= 3 —3x 1—3>k5 Y.
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